Dezimalzahlen - Schriftliche Division I

1.)4,59 : 1,47 =

2.) 0,362 : 2,68 =

3.)11,1: 2,533 =

4.)10,4 : 4,52 =

5.) 5,658 : 1,19 =

6.) 13,47 : 1,182 =

7.)19,3: 3,83 =

8.)5,35:5,27 =

9.)4,68 : 0,039 =
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Dezimalzahlen - Schriftliche Division I

LOosungen

1.) 4,59 : 1,47 = 4590 : 1470 = 3,1224
2.) 0,362 : 2,68 = 36,2 : 268 = 0,1351
3.)11,1: 2,533 = 11100 : 2533 = 4,3822
4.) 10,4 : 4,52 = 1040 : 452 = 2,3009

5.) 5,658 : 1,19 = 565,8 : 119 = 4,7546
6.) 13,47 : 1,182 = 13470 : 1182 = 11,3959
7.)19,3 : 3,83 = 19300 : 3830 = 5,0392
8.) 5,35 : 5,27 = 535 : 527 = 1,0152

9.) 4,68 : 0,039 = 4680 : 39 =120
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